Atomic Mass Determination Review Problems

Name_________________________________
1. Gallium, which has an atomic mass of 69.723 amu, has two naturally occurring isotopes, Ga-69 and Ga-71. 
a. How many protons, neutrons, and electrons does each isotope contain?

b. Which isotope occurs in greater abundance?  Explain.
2.  Silver has two isotopes: 107Ag, which has a mass of 106.905 amu and a percent abundance of 52.00%, and 109Ag, which has a mass of 108.905 amu and a percent abundance of 48.00%.  What is the atomic mass of silver?
3.  The element rhenium (Re) has two naturally occurring isotopes, 185Re and 187Re, with an average atomic mass of 186.207 amu.  Rhenium is 62.60% 187Re, and the atomic mass of 187Re is 186.956 amu.  

a. Determine the number of protons, electrons, and neutrons in each of the two isotopes.

b. Calculate the mass of 185Re.
4.  Assume silicon has three major isotopes in nature as shown in the table below.  Fill in the missing information.  The average atomic mass of silicon is 28.086 amu.

	Isotope 
	Mass (amu) 
	Abundance 

	28Si 
	27.98 
	

	29Si 
	
	4.70% 

	32Si 
	29.97 
	3.09% 


5.  The average atomic mass of naturally occurring neon is 20.18 amu.  There are two common isotopes of naturally occurring neon as indicated in the table below.

 


Isotope


Mass (amu)

Ne-20


19.99


Ne-22


21.99

Using the information above, calculate the percent abundance of each isotope.

